.ﬁy cd\cu\ Eﬁbno YOmQ C f
oh o \aa cua) estodia \oo reao\
\er mo\\'emo\\ncos \ue df determinQ
V@r._olb\eﬁ de  una ecuncion 86 ‘
9L83JU(3 2 mcremen\ror)o\o cqéo o O 505

’~ - g / A
= ‘~.T?$ -

\to\nrps o

D_oa Qp\'caoones ée\ co\co\o En \o Orqpilr%éu
COQ‘bb\‘ CAO(J e

@ mn \05 \um\lﬁo' N rﬁ(}\@ma)nco.:s LK . N "
ml’(/d a lo gfue se ac=erean pro reb\vo,n_-,_v n
\@@ )rermmoa éﬁ oNO c'ecoenc\q \O ae Y £ 6

‘ e O,A(‘IQ G\PLCQ( -\Qa ée\"\fﬁl AON: .‘" :

L6 rql A o 1 S ,‘,w_\.«!,mi\__ OO 1<




?5)0_;‘3 LY L)’K‘f’ ;&1—(‘ OL- >
L)H":' >, !:*_15 o - f \1

V’CT,I{,u]L = s e D

ol B oofn ww'




.\ﬂ
3) "
*\ =
2~
(oc® e
=
o
IN)
/\v\«p
=
X
Fe
©

-m/v
Ix

€

3 )

o

Cx

).
o

2

t3

i -

=

()=







